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Carefully follow the instructions given in each Group
" g664e SRIg6R goa dgeedqeq A9 996 aIRe @9
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(
GROUP—A () Which of the following is not a
Qe characteristic of wealth?
3 Gofge Aug 6RAG A°aQQ 6RE]Y Q6w?
Answer all questions serially mw\aw tility E
i ili
QUIQUER AZ 99 Qaa @ QA6QITS!
. i) Scarcity
w 1. Write the correct answer choosing from the o ol
: alternatives given in each question : 1x15=15 A 1 ‘auali
= _ " _ (iti) Internal quality
g6cie gg6a gee QRFIeR AU A0K] QARG 2AeGee gd
QI8 6Qd :
(iv) Transferability
fa) Who defined ‘Economics as a science of dIFI8Q [

choice’?

(c) When marginal utility is zero, total
utility
6U6C6R6R g8l RUeIdel e 99,
6Q606Q6R 676 RUCAIFG!

‘2619 9@ 99 AR €@ @ B9
69R26M ?
(i) Adam Smith

aile] e s (i) decreases
(ii) Alfred Marshall giq dig
m_gmm@“ 9_%_@ \~Q increases
(i) J. S. Mill TR
ot (i) becomes maximum
2. ¥99q. .
o S0 gL AQRI® ¥9
' (v) Lionel Robbins (iv) becomes zero

QBeRa GFRg g8 99

/345-A
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{d) When income increases, what happens

e}

/345-A

to the position of the demand curve?

-

20 QF aIReR, CIEEANA Fo Q¢

6RIRAN?
(i Shifts to the right
QIRIEg QI JAQRQ 62Nl
(i) Shifts to the left
QAAQ gIf AR 6QRaIg

(i) Remains constant
JAATRE Q6L

fiv) Rises upwards from left to right
QAAQ QIANEQ AFAA 62IRAN

When price rise of good X causes rise in
the demand for good Y, then the two
goods are

6Q62696R X 98YQ 99 QF 62¢ Y @@ya
OI%Ql 6@, €I606RER QY INalS
1 complementary
Ag99Q
(i alternative
caage
(i) equally urgent
W4
{iv) None of the above
Qa6QIQ 6ETT g6d

( Continued )

(9)
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( S)

When marginal revenue is less than
average revenue, average revenue

cU6e6e6R QIAIE g 2AIA} i 0Ig
Qf 99, AR I
(i) remains constant / da Q69
(i) rises / Q& AIN
(iii) falls / 219 4I9
(iv) becomes zero / g €9

Production means

QUIRR 6228

(i) creation of matter
?g 98

(ii) oanmob of utility having exchange
value
QGG MY el RACAITS! Q&

(iii) satisfaction of human wants
ARG ANNLYETRQ ARV QUK

(iv) making factors more productive

QUIRIAYRY 2RIQ QAR KRS _
( Turre Qver)
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‘(h) The pain and sacrifice undergone by the

)

owners of factors in the process of
production are

QYIS gRAEa ARF AIRRAIRS 2AQYES
grdl 8 QYIa 62R8

i) nv,vmomﬁ costs
deig aqQua
(i) economic costs
28650 aqeyg
(i) money costs
6€113@ AQMG
(iv} real costs
QIge aARMG

Under monopoly, the shape of the
demand curve is

IRRIQINE] QILQI6RSIA IR 2R
fi) horizontal / 2Ig8Ae

" (i) vertical / @R

(i) downward sloping / @¢elIFl]
(iv) upward sloping / @galen

G)

(7))

The unique feature of monopolistic

competition is

QIR Josdl

cuml

(i) single seller
9QeIg QERE!

(ii) product differentiation
QR F6RQIRAE

dola 2eqy 6948

(iii) single price
e Q@

(iv) restricted entry into market
QFIQg g6Qaex @c@dll

(k)  Which of the following is associated with

microeconomics?
Bghge g 6ede M adee QLe
qe?
(i) National income
@I Al
(i) Theory of consumer behaviour
QU6RIgIR I’ 6]
(iii) General price level
QARIQAE QA 4R
(iv) Aggregate employment
AEe Y9

whmlb X&E-F - Turn 0&“\
( Continued ) (2R i



( 8)

E§0r of the following is a part of
; ~ aggregate demand?
- RORYe A 696E ANFAE SIBQIR 2rg 9
{i) Private investment
geaIR Feed

) Household consumption
AIRRIA QA6AIG

(@} Government expenditure
4T g

{iv) All of the above
QA6RUY ang

{m) Which of the followine
Ly g , owling i1s : .
national income? SRnetineluded in

PIRNYE AUQ 62RF RIGIE 2geq 2299
62 | 2aIg?
fy owgvonmmmob of employees
RIRINIeE aGgae
(1) vaﬂmﬁnm surplus
ARG QR
(i) Transfer Payment
U22E cog
(tv) Mixed income
Age aig
'345-A
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(n)

(o)
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Which of the following is not a function
of the commercial banks?

BOAYE AUg 6R9e QERIR ISR @Iy
Q6% ?

(i) Acceptance of deposits / @Il oJél
(i) Advancing loan / Q& 4<QI¥

(iii) Credit creation / 9§ 9&

(iv) Credit control / Q& FAREl

Balanced budget is one in which
ANGR Q6RE Glel 6V

(i) proposed expenditure is equal to
anticipated revenue

ggiee Q4o QaIY &g ARe QAR

(i) proposed expenditure is greater
than anticipated revenue
ggiae Qig QaIy A180IQ AN

(i) proposed expenditure is less than

anticipated revenue

Jgide Qio Qaly IR0 K

(iv) None of the above
QQ6AIQ 6RNETT g6

{ Turn Over )
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2. Examine the correctness of the following

statements. Correct only the incorrect
statements without changing the
underlined portions : 1x15=15

R0Rge 28gEea 006! AIF QA 689% QA
2IGFRQ 6QQISE 2°9 JRREAR @ QR A6
@ :

(@)

(b)

()

(d)

/345-A

All economic goods are capital.

ang 2eU6REe 9y Q&I

Value of a commodity expressed in
terms of money is called wealth.

QR Y FQI AIRIAEA YIS FAUGER 121
QR QAN

DmBm.b& for goods having alternative
uses 1s relatively inelastic.

3m>@_®m_o Al QA QILQl &EARIQE
dagegiae 26e|

——

Quantity demanded for Gi
- or Giffen good falls
with the fall in its price. :

a
6UR 9MQ 20 Q1A 626m YRR 9RQl ateldl
219 Q|

Y4 \1\43‘-.*:\\9,\& \

(e)

(9)

(h)

()

0)

/345-A

(11 )

In the short run, all factors of production
are variable. ,

dgeIRea  Q7g Qe RAIQIFYES
ageamal .

Cost per unit of output is known as
marginal cost.

Qe QUIes qaeiag QiaIs  da9ia
QaIaNa|
Under oligopoly, there is restriction of

entry.
2gIULRRER geQdeq @@l arg|

The law of variable proportions shows
the short run production function.

gaeel 2gale 98 JERIe QAeR e
gonal

Under perfect competition, there is no
distinction between firm and industry.

qd gesaicieisa geqie G dg e
calad aldey @ andl

Micro-economics studies the behaviour

of aggregate economic units.
Q@ zdalg QlEe 2deaeR Nala el

gIgadl YR sTats N

( Turn Over)



(12 )
-.If net factor income from abroad is
negative, Gross National Product is

greater than Gross Domestic Product.

v F6AIge §6 dRIF TG QNNR 6R6EM

U

(m)

™

(o)

de adjusted with income.

I345-A

6AIC Q1018 QIR 6AIT TR QYIS OIg
S 62IRANI

Aggregate supply is inversely related to

employment.

ARR 64IFIEQ T8 QL0 FUQIC AR
2|

Demand deposits cannot be withdrawn
before a stipulated time period.

M@ Q8q A 999 Q@9 @al QoId

@A QIF|

Medium of exchange is a secondary

function of money.

eea
99 AR 9QIe IR 69ld @Iy 269!

In i
- public finance, expenditure is

Qg @
& 969 G 2916 Qyg g SiQed|

( Continued )

3. Answer any eleven of
within 2 to 3 sentences each :

gesie 69g6a 9%

( 13 )

GRouP—B
g—aala

the following questions
2x11=22

q NG QIR F1I6 oamge

gaaIee FrIg 6a6Ied <gIad g9a e @ :

(@)

(b)

(c)

(d)

(e)

/345-A

What is form utility?
PIeIQee @a6eaIGel @67

What are conventional necessaries?
AQHAINE AR 2IQle @487

What is demand schedule?
QRRAIYST /817

What is perfectly elastic demand?
agq gogiae e@el @'a?

What are the central problems of an

economy?
caltg 2deuagia 6ag1a AAAMIGRR @'a?

What is marginal revenue?
Qiale G «a°?

( Turn Over )
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{g) What is law of supply? T e ‘
caiag Q'a? 4. Distinguish between any six of the following.
Qe Answer the questions within 6 sentences
. each : 3x6=18
(k) What is average cost? agfdge dug 6U6Alad sATR 16 aieled
‘. Qdiall gge @ae 9§ qieiea KIS A9 -

QRILR A @6 ?
- (a) Marginal utility and Total utility
) What is law of equimarginal utility? qieIe QueaIdiel 6 6dIe QUEIGE!
QAQIAIZ RACAITS! 98 @417
(b) Value-in-use and Value-in-exchange

eLIae gy 6 {¥RAG gmi

() What is personal income?
QA G @'4°? (c) Fixed cost and Variable cost
ga caeia G 9a9eRIa 9QRiD

K ﬂ:bwm is mwmmﬁomwﬂo demand? (d) Marginal product and Average product
QLR QILQ Q'Q? QIFIe Qe 8 AL A
(e) Microeconomics and Macroeconomics

NN\ sgﬂ 1 5 ot — < — — < —
1s monopolistic competition? QU 2ale Ye° 4Aag AAXTY

NeIRIeRe gocaldiel @'q?
( GNP and NNP

cale Q1019 QAR 9Q° §C QIGIa QL

(m) What is money?
1
Bae (g) Central bank and Commercial bank

cagla QIS 99° QIéGIe QuIa

(n) What is Uﬁam% . ..
ERT Q'Q? (h) Public finance and Private finance
/345.A QIR 9e° QUG AR
E /345-A { Turn Quer )
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GrouP—C
g—axud

Answer any four of the following questions :
7Y2x4=30

dadge g 6a6dlad QlEQIT g9 Qe @ :

5. Discuss the characteristics of human wants.

Aleqlo JRIea 63agIgER ISRIPN! QQl

6. Explain the law of demand.
QI8QI 98 Il @l

7. Explain the law of variable proportions.
aGeeRIa 2QaIe g8 Ut @al

8. Explain the simple Keynesian theory of
income determination.

cerds 48R i R8IAd 0] quiEl

9. Describe the functions of money.

qgie @Idyex! el @al

10. Discuss the functions of Central Bank.

6RQ19 QISR QUTHSR! ARSI Al

* kK
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